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Consider the velocity function V(t) = 1262 — v/ + 4 of an object in motion. Show all work
clearly.

a. State the limitations that are placed on variables ¢ and V in context to the problem.
t (0, 0q )

/

b. Find the initial velocity of the object.
Vo) = ¢ -0+ =Y

c. Find the acceleration function a(t) of the object at any time ¢.

alt)= ?E_*Jm
0\&) =2t - '/Z(t"f5.>

d. Find the position function s(t) of the object at any time ¢, where s(0) =1.

V(L)= £ (e
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1].
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f. Find the average velocity of the object on the interval [0, 1].
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Consider the velocity function V/(t) = 12t> — v/f + 4 of an object in motion. Show all work
clearly.

m

. State the limitations that are placed on variables ¢t and V i ml context to the problem.
lenhbad ot 0N JRriallgs + <\ /

(
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b. Find the initial velocity of the object.

V(0)= 12.(0) -0 ) 44

l

o

Find the acceleration function a(t) of the object at any time t.

- &H)rZéH-“%F?

d. Find the position function s(t) of the object at any time ¢, where s(0) = 1.

)= fudd i
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. Find the aximum and the minimum velocrcy of the object on the interval [0, 1].
V(0) {z (oY) <o i =&
JOy =R i

- 24(0) ”’/&0 \1% %2 3
f. Find the average velocity of the obi(t on the interval [0,1].
5(1)= 5(0)
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Consider the velocity function V(t) = 1262 — v/f + 4 of an object in motion. Show all work
clearly.

a. State the limitations that are placed on variables ¢ and V in context to the problem.

tarts ar 0, dogint md

b. Find the initial velocity of the object.

v(0y=Y

c Flnd the a.cceleratlon function a(t) of the object at any time ¢.

‘*(ﬂ - o
-2Vt

d. Find the posmon function s\{__ of the object at any,t time © ,,?/here 5(0) =
t
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1].
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f. Find the average velocity of the object on the interval [0, 1].

LUy
l



=¥

Consider the velocity function V (t) = 12t — v/t + 4 of an object in motion. Show all work
clearly.

a. State the limitations that are placed on variables ¢ and V in context to the problem.
\J 77 ™
20

b. Find the initial velocity of the object.

\JL—/ . \L-_-—J =N P ’ -

c. Find the acceleration function a(t) of the object at any time t.

t
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d. Find the position function s(t) of the object at any time ¢, where s(0) = 1.
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1.

f. Find the average velocity of the object on the interval [0, 1].
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Consider the velocity function V/(t) = 12t> — v/t + 4 of an object in motion. Show all work
clearly.

a. State the limitations that are placed on variables ¢ and V in context to the problem.

L zo0

v U

b. Find the initial velocity of the object.

v@‘;'— |

c. Find the acceleration function a(t) of the object at any time t.

0@-, We - b}”

d. Find the position function s(t) of the object at any time ¢, where s(0) = 1.
0§ 8T vt 4 (s
5 LY E
s\ £ 5 =P v 4l)
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1].

f. Find the average velocity of the object on the interval [0, 1].
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Consider the velocity function V(t) = 12t* — /t + 4 of an object in motion. Show all work K ;.r . (J;
clearly. 1 ' >

~

a. State the limitations that are placed on variables t and V' in context to the problem.

=0
V2 15Hs

b. Find the initial velocity of the object.

}m+ Vooany 3 L!H/Se,c
U[oj - nf*-Jo+ 4=

c. Find the acceleration fmlctlon a(t) of the object at any time ¢.

Iy = 244- "
(,\Pr]:ZLH—U?
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d. Find the position function s(t) of the object at ary time t, where s(0) =
D= S0F-JF 4 & ZLH P g e
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1].

(0):1200)- Ja+4 = 4 in_velocity of Y4 s
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f. Find the average velocity of the ob Ject on the interval [0, 1].
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Q 8. Consider the velocity function V(t) = 12t2 — v/t + 4, e of an object in
motion. Show all work clearly. : $h =

a. State the limitations that are placed on variables t and V in context to the problem.
(2 points)
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b. Find the initial velocity of the object. (2 points)

. A
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c. Find the acceleration function a(t) of the object at any time t. (2 points)

Wig =ms .

%
t=6.120L

d. Find the position function s(t) of the object at any time ¢, where s(0) = 1. (2

points) iy oL
dH - =
\u”:)LH; N I
J24¢ = 2
wtME=H
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1]. (2
points) v (D) Y (o,
\Ir (A (1,15)
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f. Find the average velocity of the object on the interval [0, 1]. (2 points)
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Q 8. Consider the velocity function V() = 12¢* — v/t + 4, *isfweser of an object in

motion. Show all work clearly. 1 a_ ity
- \ -« |I

a. State the limitations that are placed on variables t and V in context to the problem.
(2 points) —\" g‘-(.\@ » *\ oe oo er Sy F\

b. Find the initial velocity of the olbject. (2 points)
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c. Find the acceleration function a(

of the object at any time t. (2 points)
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. d. | Find the position function s(t) of the object at any time ¢, where s(0) = 1. (2
“points . V7
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e. Find the maximum and the minimum velocity of the object on the interval [0, 1]. (2
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Q 8. Consider the velocity function V (t) = 12¢2 — /£ + 4, wEve= of an object in
motion. Show all work clearly.

a. State the limitations that are placed on variables t and V in context to the problem.
(2 points) 1

.
o R AV

b. Find the initial velocity of the object. (2 points)
2 Ay
— 7=} Y

|4 4—1 /2

¢. Find the acceleration function a(t) of the object at any time t. (2 points)

S v f

d. Find the position function s(t) of the object at any time ¢, where s(0) = 1. (2

points) e lEN e ) 0 d o - »
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e. Find the maximum and the minimum velocity of the object on the interval [0,1]. (2
points) PRER A B AF s 4
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f. Find the average velocity of the object on the interval [0,1]. (2 points)
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Q 8. Consider the velocity function V (t) = 12¢*> — v/ + 4, vissres@8r of an object in
motion. Show all work clearly. 2 1 4 « \ »

a. State the limitations that are placed on variables t and V in context to the problem.
(2 points)

b. Find the initial velocity of the object. (2 points)

/ g 4

c. Find the acceleration function a(t) of the object at any time t. (2 points)

d. Find the position function s(t) of the object at any time ¢, where s(0) = 1. (2

points)

e. Find the maximum and the minimum velocity of the object on the interval [0, 11502
points)

f. Find the average velocity of the object on the interval [0, 1]. (2 points)
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(12 points) 10. Consider the velocity function V(t) = 12t —/t +4 of an object in
motion.
a) State the imitations that are placed on variables t and V in context to the
problem.

\k \\(}\".» \'\Q \'-bt:._ ‘Q\"\p-, \\‘\\1 45

b) Find the initial velocity of the object. .
NS 2 N - XS v AN ST VS \_'\\\:\ -

c¢) Find the acceleration function a(t) of the object at any time t.
R S S S
LET S e

b
b 0

d) Find the position function s(t) of the object at any time t, where s(0) =1.
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¢) Find the maximum and the minimum velocity of the object on the interval
[0,1].
NN T L semnws e o e
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f) Find the average velocity of the object on the interval [ 0, 1].

(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y=x"-2x-3 onthe interval from x=0 to x=5.

b) Label the intercepts and the point(s) of intersection.
¢) Then find the total area of the bounded regions.
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(12 points) 10. Consider the velocity function V() = 12t — vt +4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the
problem.

b ocanret e ncﬁwdé
V:ﬁg{\[ﬂ/ayg u-,l ijf({,f’ lo <€

b) Find the initial velocity of the object.

V(0) = \1(or-Vg 4w VEoy=0-0%h Vio)=y

¢) Find the acceleration function a(t) of the object at any time t.
= W (£) |
W= () =20 ———
| bl = 2,(4 _f/ R Z Zé’
s e
d) Find the position function s(t) of the object at any time t, where s(0) =1.
)= | A4 _ 21
(0= (vet) at | §C15f 6> 2,{/ y1
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e) Find the maximum and the minimum velocity of the object on the interval
[0,1].

Vv (2’=4
V(¥):'s

f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y =x?-2x~3 on the interval from x=0 to x=5. ]
b) Label the intercepts and the point(s) of intersection.

¢) Then find the total area of the bounded regions. /T’\
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(12 points) 10. Consider the velocity function V(t) = 12t? — vt + 4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the

problem- L't be negative
V can't exceed specd of light
b) Find the initial velocity of the object.

V(0)= 12(0)-Vo +y
V(0)=

¢) Find the acceleration function a(t) of the object at any time t.
V(€)= at®)
V) 1243 ¢*+Y

YO /5&‘» Ve +Y
s(e)= fliae ¢ " efe
5(0)+ "Zt -‘f—- H{X‘*C
$(¢): "fe’ 3;”“4%&

e) Find the maximum and the minimum velocity of the obj ect on the interval

Lo 1) V({-)“ Qe ¢ 2 +Y

e Y f L{,?‘t‘ / 3/7““ 2
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J YgpVae i
G Wy @ x= () Ui
/may @ x<) t7*2 gy
f) Find the average velocity of the object on the interval [ 0 £z 37T
V@) Re Y )RR, R |23 i)
Jlacefeh | =0 7 13
g2 et [
(10 pomts) 11. d) Sketch the regions bounded by the x-axis and the graph of
y=x"-2x-3 on the interval from x=0 to x=5. "'{'
b) Label the intercepts and the point(s) of intersection. ;N
¢) Then find the total area of the bounded regions. /\
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(12 points) 10. Consider the velocity function V(t) = 12t? — vt +4 of an object in

motion.
a) State the limitations that are placed on variables t and V in context to the
problem. )
120 Veoan ke any el humbe-

b) Find the initial velocity of the object.

)= 20) -0+

c) Find the acceleration function a(t) of the object at any time t.
- s e
a = Lved)
o (1) 2 2T L
AT
d) Findtheposition function s(t) of the object at any time t, where s(0) =1.

f 012 AT ot b= T2 -2%% 40y 4 |
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f) Find the average velocity of the object on the interval [ 0, 1].

20y - W4 =15

4 @
I _
(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y=x’-2x-3 on the interval from x=0 to x=5.

b) Label the intercepts and the point(s) of intersection. 2
¢) Then find the total area of the bounded regions.
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(12 points) 10. Consider the velocity function V(t) = 12t? — vt + 4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the
problem.

t¥x0

b) Find the initial velocity of the object.

12(c\* -\ O +Y = J

e

¢) Find the acceleration function a(t) of the object at any time t.

Z

d) Find the position function s(t) of the object at any time t, where s(0) =1.

3 a2 ; — 3/ _
2t o 2 et 2 € Y- 2R i+
3 <, 9

¢) Find the maximum and the minimum velocity of the object on the interval

[0, 1)
PN2AAB oy 2 1S
%:*O?Q% t=|

f) Find the average velocity of the object on the interval [ 0, 1].
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(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y=x*—=2x-3 on the interval from x=0 to x=5.

b) Label the intercepts and the point(s) of intersection.
¢) Then find the total area of the bounded regions.
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(12 points) 10. Consider the velocity function V(t) = 12t? —+t + 4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the

problem. T N0 o Cux wel Lo oo

CAWNIIG

\[ } Miw e \:‘ ° ’L“D‘-I”’\G W\f’\_{l’ cm |
b) Find the initial velocity of the object.
\ o) - G
¢) Find the acceleration function a(t) of the object at any time t.

o {'J'): 2NT — \

—
237

d) Find the position function s(t) of the object at any time t, where s(0) =1.
A =
‘jl?T‘T 4+ W7 _ZJ“T T 3 .
i ' +
2

e) Find the maximum and the minimum veloeity of the object on the interval

1] ) a . " hn,
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f) Find the average velocity of the object on the interval [ 0, 1]. ta 1™
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(10 pomts) 11._a) Sketch the regions bounded by the x-axis and the graph of
y=x"—2x-3 on the interval from x=0 to x=5.

b) Label the intercepts and the point(s) of intersection.
c) Then find the total area of the bounded regions.
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(12 points) 10. Consider the velocity function V(t) = 12t? —/t +4 of an object in
motion.

a) State the limitations that are placed on variables t and V in context to the

problem. y ¢ L -
\‘ o l'f'-"\ -4 \ . ! % g

-

b) Find the initial velocity of the object.

U )

¢) Find the acceleration ﬁlﬁcfrioﬁ a(t) of the object at any time t.

d) Find the position function s(t) of the object at any time t, where s(0) =1.

e) Find the maximum and the minimum velocity of the object on the interval
[0,1]' -_((J L'\\\"

" (l“’

f) Find the average velocity of the object on the interval [ 0, 1].

(10 points) 11. @) Sketch the r:'egions bounded by the x-axis and the graph of P
y =x? —2x—3 on the interval from x=0 to x=5. o .- |\
b) Label the intercepts and the point(s) of intersection. .~ ,: e U J
c¢) Then find the total area of the bounded regions.  _ | ' = >
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(12 points) 10. Consider the velocity function V(t) = 12t* =Vt +4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the
problem.

b) Find the initial velocity of the object.
Ve’

c¢) Find the acceleration function a(t) of the object at any time t.
e

d) Find the position function s(t) of the object at any time t, where s(0) =1.

S N =

¢) Find the maximum and the minimum velocity of the object on the interval
[0,1]

PR A

LT et

f) Find'the average velocity of the object on the interval [ 0, 1]. b
\Voags® 03 &

(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y=x?—-2x-3 on the interval from x=0 to x=5.

b) Label the intercepts and the point(s) of intersection.
c¢) Then find the total area of the bounded regions.
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(12 points) 10. Consider the velocity function V(£) = 12t2 —vVE+ 4 of an object in

motion.
a) State the limitations that are placed on variables t and V in context to the

v o '-E, % 'I'\C‘L/ \J WhU 43.'.‘.{. L_'J > %“\ 33‘51.\:@ {'&;‘\ V\v\.f‘\-(;\\;\e‘n]j? Ba T b,

b) Find the initial velocity of the object.
v(0)= 2 (o -3 ¥ = S F o+ ‘-'—@

c¢) Find the acceleration function a(t) of the object at any time t.
I

Calby=2 5 - 5=

-
e ks it

d)ﬂ FfflEl"tEE‘posiﬁnn'--fun-cti'on'é(f)"ﬁ‘f tﬁe object at any time t, where s(0) =1.
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e) Find the maximum and the minimum velocity of the object on the interval
[0,1].

; 4
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I_..H’J. O s i~ EDC,C«A P 3 \\E

f) Find the average velocity of the Gbject-on the interval 00,1} —
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(10 points) 11. a) Sketch the régt ounded by the x-axis and the graph of

y=x"=2x-3 on the interval from x=0 to x=5. X \"-/\LDWQA/Q“?S N &N \
b) Label the intercepts and the point(s) of intersection. - , -~
¢) Then find the total area of the bounded regions. 16 A “';‘3"19%' X’B T % s
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(12 points) 10. Consider the velocity function V() = 12t =Vt +4 of an object in
motion.
a) State the limitations that are placed on variables t and V in context to the

problem. £ must ke positive L*:l@\

V# O
b) Find the initial velocity of the object.

\&: (L‘"i = \2 :"-.'3‘2.?_, . E:_ jid %= E

¢) Find the acceleration function a(t) of the object at any time t.
o= VK

S
o -\
( o e = LM S5

d) Find the position function s(t) of the object at any time t, where s(0) =1.

d=fuer- Creg de s R 2™ Lue 4
- e . 5 TR
PO T L) I
e) Find the maximum and the minimum velocity of the object on the interval - 1
O l = - __. - -, 7 ”(t,.h z_!’—i ‘1’ ——
[ 1. V' = que e S0 & B, ’r;g _ p)
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f) Find the average velocity of the object on the interval [ 0, 1]. oh l
(10 points) 11. a) Sketch the regions bounded by the x-axis and the graph of
y=x?—-2x-3 on the interval from x=0 to x=5.
b) Label the intercepts and the point(s) of intersection.
¢) Then find the total area of the bounded re glons 5
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94. (12) Consider the velocity v(t) = 1242 — /% + 4 of an object in motion. Show all work clearly.

(a) State the limitations that are placed on the variables ¢ and v in context to the problem.
(b) Find the initial velocity of the object.
~ (c) Find the acceleration function a(t) of the object at any time ¢.
(d) Find the position function s(t) of the object at any time ¢, where s(0) = 1.
{e) Find the maximum and the minimum velocity of the object on the interval [0,1].

(f) Find the average velocity of the object on the interval {0, 1].
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24. (12) Cousider the velocity v(t) = 12t% — /t + 4 of an object in motion, Show all work clearly.
(a) State the limitations that are placed on the variables ¢ and v in context to the problem.

(b) Find the initial velocity of the object.

(¢) Find the acceleration function a(t) of the object at any time £. 9 -
(d) Find the position function s(t) of the object at any time ¢, where s(0) = 1.

(e) Find the maximum and the minimum velocity of the object on the interval [0,1).

(f) Find the average velocity of the object on the interval [0,1].
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24. (12) Counsider the velocity v(t) = 12t — /£ + 4 of an object in motion, Show all work clearly.

(a) State the limitations that are placed on the variables ¢ and v in context to the problem.
(b} Find the initial velocity of the object.

(c) Find the acceleration function a(t} of the object at any time ¢.

(d) Find the position function s(t) of the object at any time ¢, where s(0) = 1.

(e) Find the maximum and the minimum velocity of the object on the interval [0,1].

(f) Find the average velocity of the object on the interval [0, 1].
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24. (12) Consider the velocity v(t) = 126% — v/ + 4 of an object in motion. Show all work cleerly.

(a) State the limitations tﬁat are placed on the variables ¢ and v in context to the problem.
(b) Find the initial velocity of the object.

(¢) Find the acceleration function a(t) of the object at any time .

(d) Find the position function s(t) of the object at any time ¢, where s(0) = 1.

(e) Find the maximum and the minimum velocity of the object on the interval [0, 1].

(f) Find the average velocity of the object on the interval [0, 1].
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